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GENERAL INSTRUCTIONS TO THE EXAMINEES :
(1) whremefi gdyem 3199 T97-U9 T AT Afemid: ford |

Candidate must write first his / her Roll No. on the question paper compulsorily.

(2) Tt I B AEE F |

All the questions are compulsory.

(3) T T HT I & TS IT-Yf&ehl § & foid |

Write the answer to each question in the given answer-book only.

SS-11-Pol. Sc. [ Turn over



(4) T w1 T AR @UE &, 39 A4t o I T 91 & o |

For questions having more than one part, the answers to those parts are to be written

together in continuity.
(5) W-TF % TE 9 SISl TR o Tt yepr <t e/ 3t/ faiema g9 W T v &y
! & wel A |

If there is any error / difference / contradiction in Hindi & English versions of the

question paper, the question of Hindi version should be treated valid.

(6) EC ) I T 3 TS T I hl ITeg HHT
A 1-10 1 20 31sg
9 11-18 2 40 Tsq
q 19-27 4 100 Meq
[ 2&8-30 6 200 eq
Section Q. Nos. Marks per question Words limit of
answer
A 1-10 1 20 words
B 11-18 2 40 words
C 19-27 4 100 words
D 28-30 6 200 words

(7) 9% SHHT 28 T 30 T 1A foreshed & |

There are internal choices in Question Nos. 28 to 30.
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Qg - A
SECTION - A
1. ‘i = <1 T 3e3T TR 7

What is the main objective of ‘Economic Justice’ ? 1

2. ‘o UH H g © AT ¢aed o SATEATfciehdl o fIEdR 0T 8 | I8 e fra fagm 1 8 2

‘Religion is just extension of divinity and spirituality already prevalent in humans.” Who
told this statement ? 1

3. T % AR T h1 9 AT B 7

What is the meaning of ‘Class’ according to Marx ? 1

4. e g fafaa fered €t geaepi < w9 ferfigw |

Write the name of any two books written by Marx. 1

5. oaqE H fifd (NITI) STE0 % G HH 8 ?

Who is the Chairman of NITI Aayog at present ? 1

6. “fava gty feaw’ e AARIS@TR ?

On which day ‘World Environment Day’ is celebrated ? 1

7. RdWE gfaus s foflad 9 ffida’ «=i sarsmarg

Why Indian Constitution is called ‘written and created’ ? 1

8. &1 o & iy & fow R gfum d s sgeen A 2 2

What arrangement has been made to prevent child labour in Indian Constitution ? 1
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10.

11.

12.

13.

14.

15.

16.

17.

18.

T Tsg T H gawH § et Tobe Hee § 7

How many members are there in United Nations at present ? 1

ST (ASEAN) %1 GfedTerd &l 8 7

Where is the Secretariat of ASEAN ? 1
wig - ¢
SECTION - B
SIfed TF IHTE H ¢ ST STy |
Write any two differences between Power and Influence. 1+1=2
FHTAT % <h1g Gl STUTRT T FaTsy |
Write any two basic elements of Equality. 2

TroHIfereh TRWTRTAT bl sigH o foTu b1 31 gemma A |

Give any two suggestions to increase the Political Participation. 2

HTTeh TATIER FHTSTeE H SRS o5 fedl shl Joha Bidl 8, THeIST |

According to your opinion, the interest of consumers are damaged in Socialism, clarify. 2

“JoelteRtur & 7T Menfirehl STierl 2 |7 e shifvy |

‘Technology is responsible for Globalization.” Explain. 2

TS ST Sl Uehel b 1T IS QI 3UTA GATST |

Suggest any two steps to stop ‘Global Warming’. 1+1=2

WL o Trsg e o fafem o fohg wa < o1 AftehR Jem fepam man 8 2

Who have been given right to vote in the election of the President of India ? 2

ATt I UE & e i UhAT HIST 8 |7 TUh FATER YA o G99 H I8 el 31
HIT R ? AT |

‘The process of removing the Judges is difficult.” According to your opinion, explain
why this arrangement has been made in the Constitution of India. 2
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e - 4§
SECTION -C

19. AT o fohegl =R e <hl feremn <hifs |

Discuss any four kinds of liberty. 1x4=4

20. TSHITeh Tl o it awi shi fae=mt hifsT | (F1E =)

Explain the determinants of Political Culture. (any four) 1x4=4

21. TSI THTSIERTT & |1 o &9 § fe 6 fereemn $ifs
(i) dER
(i) Treror geemd
Explain the following as tools of Political Socialization : 2+2=4
(1) Family

(i) Educational Institutions

22, WRAE UM ¥ 9rag = ol AT oht STR-JKTehT H ATTeTen] TRt TRaT :

(A) (B)
(a) WfIY™ 1 9m-3 () fafer < awer wmman
(b) wlIY™ T 9qTI-4 (i) wifersh rferepR
(c) 3TI<se-14 (iii) STEITIAT T 37
(d) 3=e-17 (iv) T<F & ifd e o=
Match the following, related to Indian Constitution, and draw a table in your answer book
to write matched answer : 1x4=4
(A) (B)
(a) Part-3 of Constitution (1) Equality before law
(b) Part-4 of Constitution (i1)) Fundamental Rights
(c) Article-14 (i11) End of Untouchability
(d) Article-17 (iv) Directive Principles of the State Policy
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23. U TAHHR, IR GiIe § Thiedeh Saee] o Hia & a0 & 7 foheal = & fere=m

ST |

According to your concern, which features of Unitary System are in Indian Constitution ?

Explain any four. 1x4=4

24, VA Gfaue § aftiq Usa o Hifd s awi o 78w ol Tse Hifsu |

Explain the importance of the Directive Principles of the State Policy mentioned in the

Indian Constitution. 4

25. ‘SfddTe wrehds o foaeg 8 | 36 YT & YN T 3T SATd9TE o IR ThRIcHsh J9TET hi
e HifsT |

‘Casteism is against to Democracy.” Explain four negative effects of casteism on the

basis of this statement. 1x4=4

26. 3Tk HATTIR TSEYH <l TSI o I3 TR AT T Jeoig hITTT |

Describe any four benefits of ‘Coalition politics’ according to your views. 1x4=4

27. <feroft ufsrng eflT Tean @ied (T8E) o Hew Usei & AW fiRay U 30 Hia o 323l
It hHITT |

Name the member-states of South Asian Association for Regional Cooperation (SAARC)

and mention its objectives. 1+3=4
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28.

29.

7

qlg - ¢

SECTION -D

Tefisht o fr e st fee=m Fifse
() Tt o1 et
(i) e Tg el Sl afersrr

YT
IERATE o T w1 i ferar=rm il -
(i) T AT I IRATG
(i) 3N A1 IR IGRATE
Explain the following thoughts of Gandhiji :
(1)  Spiritualization of Politics.
(i1) Purity of means & ends.

OR

Explain the following forms of Liberalism :

(1) Traditional or Classical Liberalism.

(1) Modern or Contemporary Liberalism.

qge & = i ot feremn hifsre
() wfaum ameE
(i) hrRIUTTeRT W ==
AT
TTe st fe siferant <t fereremn ShifsTe
(i) TRt wTfeaal
(i) foemh sifegat

Explain the following functions of the Parliament :

(i) Amendment in Constitution.
(ii) Control over executive.
OR
Explain the following powers of the Governor :
(1) Executive powers.

(1) Legislative powers.
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30. 9Ra <t fareer Hife i yg@ fesransti 1 qui Hifse |
HAYQT
WA TS UTTehEdT o HEs=4] o1 o014 hIfT |
Describe the salient features of the foreign policy of India.

OR

Describe the India — Pakistan relations.
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